3

' ‘model your answer.
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15-Lesson 16

G4-f

Solve,

1. G sixths — 3sixths = 2 sixths 2. 1sixth 4 4 sixths = 5 gixths

The units in both numbers are the I can rewrite the number IfTknow that 1 + 4 = 5, then
same, so { can think “ag _ 3 = 2‘:1 sentence usiﬂg fractons. 1 sixth + 4 sixths =5 sixths.
50 5 sixths = 3 sixths = 2 sixths. _5_ B _3: _ E
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Solve. Use a number bond to rename the sum or difference as @ mixed number. Then, draw a number line to
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/\ i canrrename . as a mixed //\ 2 parts: gand =2
6 1 number using a number & % isthe same as 1, so i
p P bond to separate, or F3 6 10
7 rewrite —--as the
decompeose, — into a whole 6
6 . 4
5 mixed number 15'
number and a fraction. p -
is the whole, and the
fractional part is w~1~ | can think of the number sentence in unit
// form: 5 sixths 4 5 sixths = 10 sixths.
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| plot a point at - because that is the whole. L draw a number line and plot a point-at o t
5 5
Then, | count backward to subtract = count up o The model verifies the sum is. 1 %
Use visual models 1o add and subtract two fractions with the same units. 21
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